18 + 628 =

125)398) 646 (212

19 +352 =

113)371)(92) 334

5+ 216 =

221)(99 ) (154, (182

0+ 529 =

289)(529)314) 454

3+651=

330)(151)(197) 654
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20+ 730 =

489 (48)(750) (146

7+ 204 =

72039 21194

17 + 948 =

56 (965 472) 54

10 + 975 =

845)(210)405) (985

11 +116 =

16 )01 (117127

15 + 327 =

311)(68)(337) 342

5+ 41 =

32)(46 )36 (16

4 + 869 =

770)(234)(873) (716

5+ 807 =

812)(246)(817)(250

8 + 640 =

648)93)593) (597

12 + 531 =

543)(388)(189)(218

13 + 595 =

167)(608)(521)(288

13 + 720 =

596)(733)(53 433

15+ 812 =

818)(733) 644 (827
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Wadhle die richtige Antwort aus (plus Zahlen bis 20) | ANTWORTEN
a5

1

.18 + 628 =
BHSD

5

19+ 352 =
GRS

9

.5+216=
SLICIC

13.

0 + 529 =
e e 1969

17.

3 +651=

G

© MaxKlug.de

2

20+ 730 =

3

15 + 327 =

* %

Plusrechnen

4

8 + 640 =

E)EEHe
6. 7. 8.

7+ 204 = 5+ 41 = 12 + 531 =
PEENCH)  CE)E(e  EIeE8ies
10. 11. 12.

17 + 948 = 0+1= 13 + 595 =
) (VOGN DHesedes
14. 15. 16.

10 + 975 = 4 + 869 = 13 + 720 =
&Y EIEEE
18. 19. 20.

11+ 116 = 5+ 807 = 15+ 812 =
QOIS E9EIE36)
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